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Assignment 6
(Due date: 6/20/2012, Wednesday, in class) 

(Full Score: 160 points)

	Your name:
	Grade:


The following questions are taken from the textbook Chapter 7 (p. 237~242). 

For Exercises 1-6, match the problem solving strategy with the definition or example.


A. Ask questions


B. Look for familiar things


C. Divide and conquer

	1.
	The first strategy to use when given a problem.



	2.
	Don't reinvent the wheel.



	3.
	Strategy used in the binary search algorithms



	4.
	Is a solution to a previous problem appropriate for the current one?




For Exercises 11-15, match the term with the definition.


A.
Information hiding


B.
Abstraction


C.
Data abstraction


D.
Procedural abstraction


E.
Control abstraction

	11.
	The practice of hiding the details of a module with the goal of controlling access to the details of the module



	12.
	A model of a complex system that includes only the details essential to the viewer

	13.
	The separation of the logical view of an action from its implementation



	14.
	The separation of the logical view of a control structure from its implementation



	15.
	The separation of the logical view of data from its implementation




For Exercises 16 - 36, mark the answers true or false as follows:


A. True


B. False

	16.
	Count-controlled loops repeat a specific number of times.



	17.
	Event-controlled loops repeat a specific number of times.



	18.
	Count-controlled loops are controlled by a counter.



	19.
	Event-controlled loops are controlled by an event.



	20.
	An infinite loop is a loop that never terminates.




Exercises 37 – 67 are short-answer questions.

	37.
	List the four steps in Polya's How To Solve It List.



	38.
	Describe the four steps listed in Exercise 37 in your own words.



	39.
	List the problem-solving strategies discussed in this chapter.



	40.
	Apply the problem-solving strategies to the following situations.

Solutions are not unique.
c.  Buying a dress or suit for an awards banquet at which you are being honored.




	42.  
	What is an algorithm?



	43.  
	Write and algorithm for the following tasks.

Solutions are not unique.

a.  Making a peanut butter and jelly sandwich.



	44.
	List the three phases of the computer problem-solving model.




	53.
	Write a top-down design for the following tasks.

a.  Buying a toy for your four-year-old cousin.




The following questions are taken from the textbook Chapter 8 (p. 276~282). 

For Exercises 1-10, indicate which structure would be a more suitable choice for each of the following applications by marking them as follows:


A. Stack


B. Queue

	1.
	A bank simulation of its teller operation to see how waiting times would be affected by adding another teller.



	2.
	A program to receive data that is to be saved and processed in the reverse order



	6.
	A program to keep track of patients as they check into a medical clinic, assigning patients to doctors on a first-come, first-served basis.



	7.
	A program keeping track of where canned goods are located on a shelf.




The following questions are taken from the textbook Chapter 9 (p. 326~330). 

For Exercises 11–24, match the question with the appropriate translation or execution system.

A.  Interpreter

B.  Assembler

C.  Compiler

D. Machine code


	11.
	What translates a high-level language into machine code?



	12. 
	What translates a Java program into Bytecode?



	13.
	What executes Bytecode?



	14.
	What translates an assembly language program?



	15.
	What is the output of an assembler?



	16.
	What takes input in a high-level language and directs the computer to perform the actions specified in each statement?



	17.
	What executes the Java Virtual Machine?



	18.
	What is used to translate a program in ALGOL?



	19.
	What is used to translate a program in APL?



	20.
	What is used to translate a program in COBOL?



	21.
	What is used to translate a program in FORTRAN?



	22.
	What is used to translate a program in Lisp?



	23.
	What is used to translate a program in PROLOG?



	24.
	Which translator runs the most slowly?




For Exercises 25–36, match the language paradigm and the language or the language description.

A.  Procedural

B.  Functional

C.  Logic

D.  Object oriented

E.  Procedural language with some object-oriented features

F.  Object-oriented language with some procedural features

	25.
	Which paradigm most accurately describes FORTRAN?



	26. 
	Which paradigm most accurately describes C++?



	27.
	Which paradigm most accurately describes PASCAL?



	28.
	Which paradigm most accurately describes Java?



	29.
	Which paradigm most accurately describes Lisp?



	30.
	Which paradigm most accurately describes BASIC?



	31.
	Which paradigm most accurately describes PROLOG?



	32.
	Which paradigm most accurately describes SIMULA?



	33.
	Which paradigm most accurately describes ALGOL?



	34.
	Which paradigm most accurately describes ML?



	35.
	Which paradigm most accurately describes Scheme?



	36.
	Which paradigm most accurately describes Python?



	37.
	Which paradigm most accurately describes C?



	38.
	Which paradigm most accurately describes Smalltalk?



	39.
	The dominant languages used in industry throughout the history of computing software come from which paradigm?




	48.
	Distinguish between an assembler and a compiler.



	49.
	Distinguish between a compiler and an interpreter.




	51.
	Describe the portability provided by a compiler.


	52.
	Describe the portability provided by the use of Bytecode.



	53.
	Describe the process of compiling and running a Java program.




	56.
	What are the characteristics of the imperative paradigm? 



	57.
	What are the characteristics of the functional paradigm?



	58.
	What are the characteristics of the logic paradigm?



	59.
	What are the characteristics of a declarative paradigm?




	69.
	Define the following data types.

a. integer

b. real

c. character

d. Boolean
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